
Subject: Problems with 'HISTOGRAM'
Posted by Martin Vissers on Fri, 11 Jun 1999 07:00:00 GMT
View Forum Message <> Reply to Message

Dear newsreaders

I have a problem with the IDL fuction histogram.
I'm running IDL 5.0.3a on windows NT4.0 (sp5)

If I make the following histogram:

 aa=histogram(dindgen(330)-180.0d,min=-180.0d,max=180.0d,bins ize=10.0d)

the array aa has 37 elements:
AA              LONG      = Array[37]

but it should have 36 elements ??????

Anyone for an answer ??

Thanks

Martin
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